

$$3\frac{1}{4} + 2\frac{1}{2} = \frac{13}{4} + \frac{5}{2} = \frac{13+10}{4} = \frac{23}{4} = 5\frac{3}{4}$$

$$2\frac{1}{2} + 3\frac{2}{5} + 1 = \frac{5}{2} + \frac{17}{5} + 1 = \frac{25+34+10}{10} = \frac{69}{10}$$

$$\frac{2}{3} + \frac{41}{100} + \frac{15}{8} - \frac{7}{16} = \frac{30-7}{16} = 6\frac{9}{10}$$

$$\frac{8}{9} - \frac{3}{7} = \frac{56-27}{63} = \frac{29}{63}$$
$$1\frac{7}{16}$$

$$\frac{4}{7} \cdot \frac{2}{5} = \frac{8}{35}$$

$$\frac{\cancel{4}^1}{\cancel{21}^3} \cdot \frac{\cancel{14}^2}{\cancel{20}^5} = \frac{2}{15}$$

$$\frac{\cancel{15}^3}{\cancel{32}^2} \cdot \frac{\cancel{16}^1}{\cancel{10}^2} = \frac{3}{4}$$

$$\frac{9}{2} : \frac{3}{4} = \frac{9^3}{2} \cdot \frac{4^2}{3} = \frac{6}{1} = 6$$

$$\frac{3}{8} : 2 = \frac{3}{8} \cdot \frac{1}{2} = \frac{3}{16}$$

$$\sqrt{\frac{7}{18}} : \frac{5}{9} = \frac{25^5}{18^2} \cdot \frac{9}{5} = \frac{5}{2} = 2\frac{1}{2}$$

$$\frac{2}{3} \cdot \frac{2}{5} = \frac{4}{15}$$

$$\frac{3}{4} \cdot 5200 =$$

$$1300 \cdot 3 = 3900$$

⊕ ⊖

$$-2,3 + (-3,4) = -5,7$$

$$-4,5 + (-2,4) = -6,9$$

$$-7,8 + 3,2 = -4,6$$

$$-5,6 + 4,5 = -1,1$$

$$5,6 + (-2,7) = 2,9$$

$$-0,15 + (-1,2) = -1,35$$

$$\begin{array}{r} 5,6 \\ -2,7 \\ \hline 2,9 \end{array}$$

$$0,93 + (-8,3) = -7,37$$

$$-1,34 + 3,7 = 2,36$$

$$-3,5 - (-2,1) = -1,4$$

$$0,32 - (-2,7) = 3,02$$

$$\begin{array}{r} 8,30 \\ -0,93 \\ \hline 7,37 \end{array}$$

$$\begin{array}{r} 3,70 \\ -1,34 \\ \hline 2,36 \end{array}$$

$$\begin{array}{r} 0,32 \\ 2,7 \\ \hline 3,02 \end{array}$$

$$-2,38 - \overset{+}{-}(-2,92) = 0,54$$

$$-7,53 - \overset{+}{-}(-3,8) = -3,73$$

$$\begin{array}{r} - 2,92 \\ - 2,38 \\ \hline 0,54 \\ 7,53 \\ - 3,80 \\ \hline 3,73 \end{array}$$

$$-\frac{1}{2} + \left(-\frac{3}{2}\right) = -\frac{4}{2} = -2 \quad (4 \ 2)$$

$$-\frac{1}{6} + \left(-\frac{3}{6}\right) = -\frac{4}{6} = -\frac{2}{3}$$

$$\frac{3}{10} + \frac{1}{10} = \frac{4}{10} = \frac{2}{5}$$

$$-\frac{3}{4} + \frac{5}{4} = \frac{2}{4} = \frac{1}{2}$$